
SPECIAL NOTE: 	 The components packaged in this kit have been assembled and machined for specific type of conversions. Modifications to any of the compo-
nents will  void any possible warranty or return privileges. If you do not fully understand modifications or changes that will be required to complete your conversion, 
we strongly recommend that you contact our sales department for more information. This instruction sheet is only to be used for the assembly of Advance Adapter 
components. We recommend that a service manual pertaining to your  vehicle be obtained for specific torque values, wiring diagrams and other related equipment. 
These manuals are normally available at automotive dealerships and parts stores.

KIT CONSISTS OF:
No.	 Qty	 Part No.	 Description

OPTIONAL  ITEMS:
Qty	 Part No.	 Description

P.O. Box 247, 4320 Aerotech Center Way		
Paso Robles, CA 93447
Telephone: (800) 350-2223 Fax: (805) 238-4201	
PAGE 1 OF 2	 Page Rev. Date:  3-07-22
P/N:  713026-EK

TOYOTA LAND CRUISER 4 SPEED 
TRANSMISSION TO CHEVY LS GEN 3 ENGINE

1	 1	 383735	 Centerforce disc	
2	 1 	 CF165473S	 Centerforce CHEVY 11" (LO-PRO)
3	 1	 711500M	 FLYWHEEL GEN-3 VORTEC ENGINES	
4	 1 S.B.	 712532	 TOYOTA 4 SPD TO CHEVY KIT
		
		  1.	 1	 712532-BLK	 ALUMINUM BELLHOUSING
		  2.	 1	 712532-PLT	 DUST COVER
		  3.	 1	 716154	 PILOT BUSHING
		  4.	 1	 716314	 CLUTCH RELEASE BEARING
		  5.	 5	 722523	 1/4" FLAT WASHER
		  6.	 9	 722540	 1/4"-20 x 1/2" LG SELF TAPPING SCREWS
		  7.	 6	 723704	 3/8" LOCK WASHER
		  8.	 6	 723724	 H.H.C.S. 3/8"-16 x 1-3/4" LG
		  9.	 2	 723725	 H.H.C.S. 3/8"-16 x 2" LG
		  10.	 4	 724349	 H.H.C.S. 7/16"-14 x 1-1/2" LG

5	 1 S.B.	 713088-TLC	 CHEVY LS1 UNIVERSAL MOUNT KIT for the TLC
6	 1 P.B.	 716022	 TOYOTA REAR CROSSMEMBER
7	 1	 716023-LS	 SPEC. L/C WATER TEMP BUSH.
8	 6	 716141A	 GEN-3 FLYWHEELT BOLT 11MM
9	 1	 716155	 SPACER- GEN III PILOT BUSHING
10	 5	 720028	 10mm X 1.5 35mm LONG SHCS ZINC plated
11	 5	 720038	 LOCK WASHER- 10MM	
12	 6	 723761	 3/8"-16 X1"  PRESSURE PLATE BOLT	
	
	
	

1	 717043		  HEADERS



SPECIAL NOTE: 	 The components packaged in this kit have been assembled and machined for specific type of conversions. Modifications to any of the compo-
nents will  void any possible warranty or return privileges. If you do not fully understand modifications or changes that will be required to complete your conversion, 
we strongly recommend that you contact our sales department for more information. This instruction sheet is only to be used for the assembly of Advance Adapter 
components. We recommend that a service manual pertaining to your  vehicle be obtained for specific torque values, wiring diagrams and other related equipment. 
These manuals are normally available at automotive dealerships and parts stores.

P.O. Box 247, 4320 Aerotech Center Way		
Paso Robles, CA 93447
Telephone: (800) 350-2223 Fax: (805) 238-4201	
PAGE 2 OF 2	 Page Rev. Date:  5-13-20
P/N:  713026-EK

TOYOTA LAND CRUISER 4 SPEED 
TRANSMISSION TO CHEVY LS GEN 3 ENGINE

REAR CROSSMEMBER
PART NO. 716022

DOWEL PIN ALIGNMENT

NEW ADVANCE ADAPTER BELLHOUSING
Part No. 712532 - USES STOCK TOYOTA RE-
LEASE FORK & BALL PIVOT

CHEVY V8 ENGINE MOUNTS
PART NO. 713088

STOCK TOYOTA LAND CRUISER
4 SPEED WITH TRANSFER CASE

This conversion will require driveshaft 
modifications. 


